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X (2000) AFBIOHEEHl 2 (2100) DR L 23} 8 (2130) Al DS A (I XSDESHEXS  HAIE: (220) Xl AFS ERENIEE Y
ok = 7S I R == ] m}
of &b oH & = Il =
Xt BB MIE HIMIE = of & ¥ = A 2

206
T 2H 4,500 4,500 0lo@4aRelr=Zne 300,0002! x 3% = 900
oHAREQ 300,000 x 128 = 3,600

207

oI RIH ] 101,000 106,000 A5,000
36,000 40,000 A4,000(02 & A EHY]
oHIOIHABAl U HHHADS S/| 2 = 10,000
S QA ZEIAIAE =P = 16,000
o=MWOIX CIXQ 2% = 10,000
65,000 66,000 A1,000(03 AlEo1H|

olEA ASASHE 2| = 65,000

306
z042 221,388 177,538 43,850| o MUy E &2 1,766,250,0002 x 10/100 = 176,625
ondAN 44,763
sHx 324,0002 x 198 x 122 x 45% = 1,750
CIMES 303,0002 x 13% x 129 x 45% = 21,271
ENmMES 281,0002 x 9% x 128 x 45% = 13,657
- M QUZEAL 271,0002 x 3% x 128 x 45% = 4,391
N Sm} 57,0009 x 129 x 128 x 45% = 3,694
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NEGEE! 210,000 275,000 AB5,000
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L = d @ = | oy i}
of &b oA AF = 9l =
.2 N Mg = G & M= oA
CH|
210,000 275,000 A65,000/01 Al&H]
oUSIAlE BLBA S 110,000
oHMA AL (30H) &X 50,000
oMFT HIBFAYIIAL 50,000
1,740,068 40,300 1,699,768
1,740,068 40,300 1,699,768|01 AHAU2EF St
SHNESAIN(BEHEH) 3,168,0009 x 1CH 3,168
SOOI (IISAL QL A) 500,0009!x 1CH 500
o024 A 600,0002 x 24 1,200
oZ A2 CD L DVD 30,0009 x 300% 9,000
ST A AL 700,0009 x 6CH 4,200
oTAMM SRS 14,000
o 8l B Al A EY 40,000
oIIHA Y (HL2) 1,668,000
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5000
XL EFE | 52,568 41,015 11,553
5200
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HX=2 21,015 21,015 0
400
HlBldHl S 21,015 21,015 0
420
J|E} 21,015 21,015 0
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BtEt =2 | El 21,015 21,015 0
21,015 21,015 003 L2
oXIEIEM A2 U S22 BtE
700,500 x 30% = 21,015
5400
[0:[i=1Ns] 31,553 20,000 11,553
5410
0l 51 Bl 31,553 20,000 11,553
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ollgl gl 31,553 20,000 11,553
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oibldl S 31,553 20,000 11,553
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ol gl gl 31,553 20,000 11,553
801
ollgltl 31,553 20,000 11,553 | = 0ildl Hl = 31,553
N = & A 6,800,000 4,600,000 2,200,000
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